Class: IV

DELHI PUBLIC SCHOOL, JAMMU
SESSION 2018-19
REVISION SHEET-

Topics: Number and Numeration, Addition and Subtraction

Section-A

Choose the correct option:

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Qs.

Qo.

Q10.

Q11.

Q12.

Q13.

The smallest 3-digit number added to the smallest 2-digit number is

Subject: Mathematics

a)  999+99 = 1098 b) 100+ 10 =110 c)
Place value of 3 in 7,68,362 is

a) 300 b) 3000 c)
Subtrahend is added to to get the minuend.

a) Sum b) Addend C)
Sum of XXIX and XL is

a)  LXIX b)  XLIX c)
If 360 is added to we get 7500.

a) 7860 b) 7500 c)

100 + 99 =199

30

Difference

7140

The International and Indian System of numeration follows the same pattern upto:

a) ten thousands b) lakhs C)

Round off 2875 to the nearest 1000.

a) 2000 b) 3000 c)

Which number has a 6 in the thousands place:

a) 2,94,633 b) 46,213 c)
Section- B

Write the number name:

a)  4,16,584 b) 690, 511
Write the numerals:

a) One lakh seventy five thousand two hundred twenty.
b) Three hundred fifty five thousand and four.
Write the expanded form of:

a) 513,607 b) 3,87,699
Write the short form of:

a) 7,00,000 + 40,000 + 3,000 + 5

b) 80,000 + 8,000 + 700 + 60

Write the successor and predecessor of:

a) 74,392 b) 89,000

thousands

4000

5,79,206



Q14.

Q15.

Q16.

Q17.
Q18.

Q109.
Q20.

Q21.

Q22.
Q23.

Q24.

Q25.
Q26.

Q27.
Q28.

Q29.
Q30.

Q31.
Q32.
Q33.

Arrange in ascending order:
4,45,862 ; 4,47,401 ; 3,39,432 ; 3,40,432
Arrange in descending order:
35,786 ; 2,60,506 ; 2,16,615 ; 35,876
Find the sum of place values of two 5's in 95,519.
Section-C
Write all the 5-digit numbers using digits 2, 0, 1, 4, 8. Circle the greatest number.
Subtract 98,340 from 1,88,399 and check your answer.
Subtract 9 thousand from the predecessor of 1 lakh.
Raman deposited 8 lakh and Krish deposited 8 hundred thousand in a bank. Write the
amount in number using commas. Also mention who deposited more amount.

A LCD costs ¥ 1,75,000 , washing machine costs ¥ 75,830 and sofa set costs ¥ 59,500.
How much will all the three cost?
What will be the sum of the successors of 29,499 and 11,3997

The sum of two numbers is 3,56,890. If one of the number is 87,963 then find the other
number.
Arrange in ascending order: M, XXIV, LX, XXXIX, C
Section- D
Arrange vertically and add: 76,439 + 1,97,870
Kalia subtracted 76,498 from 9,80,800 and got the answer equal to 24,983. Was his answer
correct? Subtract again and check.
Arrange in columns and add: 10,613 + 3,09,943 + 75,006
Round off to the nearest tens, hundreds and thousands:
a)  4,87,830 b) 55,2901
Find the difference between 3,48,760 and 1,99,750.

Mr. Rahul purchased a car costing ¥ 8,75,000. He gave ¥ 9,00,000 to the shopkeeper.
How much money will he get back?
Simplify: 4,53,754 + 5,33,903 - 2,78,599

Subtract the greatest 4-digit number from the smallest 6-digit number.
Fill ups:
a) 34,987 + 9,34,980 = 9,34,980 +

by 15,964 - = 15,964
c) 53,879 + (87,004 + 1,23,450) = 87,004 + ( + 53879)
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